5/2(XK) FﬁﬁlllR [RPT7]

BBISH

=
1 ﬂ:::v--rv—;r—» RH¥ [ 64.0 | 2] 1 ™
2 | | IESE- M | 604 | 3| 3 3
3 | 7o maEa] 591 [ 1| 4 ‘il
] > EEZER alE | 522 |6 2 7
5 ya-LA/LE  |EEE—-| 507 | 7| 7 o
6 | 5 |1134 Hrge| 490 |5 |5 a
7 '5;3‘}_?—9':!-{':!4?:; IMNFEE| 418 [ 4] 6 6
8 s0ds mizgs| 385 |8 8 5
o HRT-{—}LJI— EL@R| 37.2 | 9| 9 8

=&




5/2(XK) F'ﬁEIJZR [RPT2]

1 ﬂuwar—:-au:r— e - BRE a
2 [Efrueroav [Ems 508 | 3 ] 1 5
3 FJYUFYrF—F |BIE | 58.2 | 4| 2 3
4 | 5 [93FvoJh> |RESE®| 547 |5 | 4 2
5 FYA(D =z®—| 503 |7 | 6 1
6 | [HY—RU-A |[BATK| 448 |8 | 9 10
7 PUNS1A1tyr  |HE&E| 446 |6 | 3 7
8 [+>92959> [wsmts] 44.0 [ 2] 8 6
o |1 (19909 |MmE | 432 |9 | 7 8
@#%a| 38.0 [10]10 o
¥960 5-7-8 ¥3,690

¥2,640 8-5-7 ¥20,090




5/2(7K) P3%I3R [RPT13]

BBISH ES
1 U fp0zn7T |2EEs | 629 | 1| 1 1
2 | 5 [A4339%-T)) IRFHE| 627 | 2 | 3 2
3 [Elov-95-0  [mpmm] 547 [4]7 4
4 h)oe+A)rE) |FEEEE 543 | 3| 2 3
5 |[EN o-AFe—O- |EweAm| 52.0 | 9 |10 10
6 | 1 |(WA-IA fl=#—| 47.0 | 6 | 8 9
7 Wl79547—5- [mmg [ 462 [ 7] 9 7
8 [ Ch| haT—ILE fEgE| 422 (10| 5 8
o [Pl +zozvwon- [mnE | 408 [ 5] 4 6
10 b1l W0 & INFHES| 374 | 8| 6 5




5/2(K) FEBIMR [RPT2]

=

1 Ezwﬂ— mEFE | 576 | 5| 1 8
2 N 12514-9) |EeiT| 562 | 3 | 2 6
e 2 EBR2EY BalEm| 54.1 | 2 | 4 2
a | 5 |[7upEx zEE—| 521 | 7|6 a
5 [EN7L9u% =WEE ] 51.4 | 6 | 8 7
6|1 |b-0-#A-Y |FZE | 501 |4 |7 5
7 | 7Stk BIE | 475 [ 1] 5 1
8 | -} |FSh51A Wt | 463 | 8| 3 3
) AIP=F ZHEH| 348 | 9| 9 o
N

¥14,160



512(*) FEBIJGR [RPT6]

=
1|5 [70057754h |[ShEe| 665 | 1 | 1 3
2 | 1 |e5J25 EHER| 504 | 2 | 2 7
3 Sy BafEs| 50.4 | 3 | 3 a
4 | “HvI=oU-Us  |[INSES| 459 [ 5| 4 2
5 E?#—rv# FiEE—| 45.1 | 7| 7 1
6 [Pl Aoro51+  [mmm | 428 [6]6 5
7 [vzs1r>  [ms%A] 400 (4] 6

¥10,160

¥9,200

¥94,810



5/2(XK) Fﬁﬁ“?R [RPTS]

=

1 ﬂw:m wazA 636 | 1] 1 4
2 | 1 |LYFINTY ARSP¥s | 56.8 | 3 | 2 5
3 Plo747ArSAF |muzal 537 6| 3 7

INFFIEES | 48.9 [ 5 | 5 3
5 ER HPEE| 487 | 4| 6 2
6 ﬂﬁ:ihu—h Hr&e|l 47.2 | 2| 4 1
7 F-Z94vE— |EH2 | 408 | 7 | 7 8
8 ﬂ?—z:u: Lyb [EF%HE] 404 |8 | 8 6
N

¥23,150



5/2(K) P3BISR [RPT10]

=
1|1 |\JLJE BIE | 649 |1 |1 1
2 | 5 |[PoFH5Ab BAB¥K| 586 | 2| 2 3
3 HhF-f‘J'j-f:rF‘ FasE | 544 | 4|3 7
4 | - hYIA-h> =AN=E| 544 | 3 | 4 2
5 Huy— MSES] 502 | 5] 6 4
6 N 1z577=— |miEm=| 425 |6 | 5 5
7 ﬂ#—rtﬁauzmb =igEY | 415 |8 | 8 6
8 Y5-I EWER| 336 | 7| 7 8

=&




512(*) FEBIJQR [RPT7]

=
1 [ Ju—ouA-Y (RiEmE | 617 | 1 | 1 "
2 | 5 |[9vF—94LY |[Hisn| 50.9 | 2 | 2 3
3 P 7ra7abvy |[BNE | 56.4 | 3 [ 5 5
4 h#IVI-Z  |[EA%A| 51.8 | 4 | 3 a
5 JyRwHZx  |INSES| 49.8 | 5 | 4 2
5 no—,-w-,—a vy |mestgm] 444 [ 7] 8 e
7 [P [EmEe] 438 [ 8] 7 6
8 PENEUF 1Ry  |FISBEE | 323 | 6 | 6 7




5/2(A ) PF95110R [RPT5]

=
1 B> e | 658 | 1] 1 3
2 | 5 [pXK=I7YA |MEE—| 60.1 |4 | 6 12
3 FiAZAve-y |mEBs| 587 | 2| 2 ‘il
4 Ivy-tby (MR | 55.0 | 3 | 3 a
5 BAs-9u7 maEw| 521 [ 6] 5 o
6 lakrvr  |mB2 | 481 [10] 9 8
7 wovar-)  |gEE=| 477 | 5| 7 6
8 STNAALYE |@H#a| 46.0 1212 10
o [Eaxoe>yy  [sr#&=] 456 [ 8 [11 ™
10 [FEH 55 R—) EATA| 454 (7| 4 5
11 SIAFY =EkT| 402 [ 9| 8 7
12 PENlS5oU7— |t | 35.3 |11 |10 11

¥10,700

¥10,990

¥161,970



5/2(XK) FEBIJ11R [RPT4]

BBISH E=
1 BIU:—M 1oEs] 628 | 11 1
2 I K5 BREFE | 60.6 | 2 | 2 4
3 [r=/7uz<— [Emme] 593 [ 3[4 2
4 | R0 A-%yF  |BERRE| 57.6 | 4 | 3 3
5[ 5 [WKF—) =EE—| 523 | 5|5 5
6 NIVAITUYA  (FEE—| 495 | 8 | 7 8
7 | 1 |¥99Y%-~SZ |ttt 48.8 | 7 | 8 o
8 NN TIISY IRFHE| 423 11|11 10
9 nwb:m fre| 40.8 [10] 6 11
10 L0 HwEpPR—-T  |EEEs| 405 | 9 |10 6
11 -MLt:r.fﬂ—:a EWEL| 355 | 6| 9 7

W=




5/2(A) PF95112R [RPT5]

=

1 ﬂb:f'tlb neas 578 3 | 4 7
2 | o KysayhS5«4  |Hm#dEEg| 55.8 | 1| 1 3
3 n“u wmiw] 555 | 5| 5 2
a PlFsyvEaRy  |BNME | 551 4 | 2 5
5 [N SNAIANSYY |REFRE| 485 | 6 | 6 a
6 [EN751>9oyr  [giEm=] 46.0 [ 8] 7 6
7 AUV migE| 440 | 9| 9 o
8 | 5 74O PIziEE | 43.8 | 7 | 8 8
o | 1 |[FTSwINNS— |BALA| 43.4 | 2 | 3 "
N




